METTEC 19" RACK CASES
1U — VERSION A

19" RACK CASES

For rack mounting only;

the front bezel is painted in
light grey, RAL 7035 to match
popular 19" racks and the
rest of the case is coated in
Alocrom 1200 for good

EMC shielding and corrosion
resistance.

ASSEMBLY

Strong and secure
construction in aluminium
assembled by four M4
screws. For high shielding
attenuation all components
are masked and interlook
with each other. The top and
base panels have EMC

ACCESSORIES

FRONT PANEL KIT:

Recessed for easy assembly
of membrane keyboards
(see page 38).

RACK MOUNTING KIT:

All screws and fixings for
fitting the case to a rack.

CHASSIS TRAYS:

For mounting PCBs,
subassemblies and heavy
components (see page 38).

contact points on eachedge [ gyppLy
for secure connection. The
front panel mounting face is
also masked for electrical EMC contact point
contact. The base panels are
ftted with an M4 earth stud. /\\\\\\\\\
Top panel SRS
. ST Extruded rear panel
All cases are supplied éii\\:\\i\\i\;:\\ii\\\\\;:\\\\\\iQ P
assembled and include the \\\\%j\i\\\i\\\i\;\\\i\\\i\\\j\i\\\\g\\\;l\\j
fixings for the accessory ENSSSS S S
front panel kits.
p Side extrusion (2x) \ / P
Handle
M4 earth stud
Front panel kit (accessory) ~
4 screws supplied with case m s Base panel
Rack mounting kit (accessory)
METTEC 19" RACK CASES - 1U — VERSION A
Part No. Type Outside dim. in mm Inside dim. in mm

No ventilation | Ventilated Height Width  Depth a b c d

VTR | R | | U. Version A 4 826 1675 W75 150 159 12

M 5910 025 M 59 10 205 1U, Version A 4 4826  267.5 2475 250 259 221

VESEIEREE | 1U, Version A 4 4826 3675 375 350 359 3

M 53 00 010

M 59 00 016

ACCESSORIES

Article Application / Supply
1U front panel kit 2 mm anodised aluminium; 1 front panel, 2 ABS trims RAL 7035 to hide the fixing screws (see page 38)
Rack mounting kit for fitting the case to a rack, 4 M6 caged nuts, 4 M6 screws, 4 plastic washers

30

Chassis trays (separate article) for mounting PCBs, subassemblies and heavy components see page 38.




METTEC 19" RACK CASES @
1U — VERSION A

4545

- 4826
‘ 466.0
4230
Depth 393.0
3 [ 3805
A 3720
| = | —
o 5 5 |
| % s -3
_da _
Al Y
t] Front View MA‘XZO
c 2 (2X)
Side View
'[D_F Mé&x8
N T
Rear View
4210
\ PCB
YR e
/
3740 R /\
379.0 Detail ‘B’
4170
l A
| Base View
39.0
o
o 20
'
o Defail ‘B’
e 11
<
o ”
Sl

19" RACK CASES




